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untitled2 ) src ) & TwoWeek ) £ main
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[@ Project W D =T = B — @& TwoWeekjava *
v I untitled2 C:\Users\Dmitrii\ldeaProjects\untitled: » | public class TwoWeek {
> I .idea > public static void main(String[] args) {
> B out
ML int age = 21;
) @ TwoWeek String name = "EZ3";
i untitled2.iml s Ly
String gender = "g";

> Il External Libraries
PO Scratches and Consoles

12

Run: [-] TwoWeek
» 4 C
2 =232 21 A0|1, 45,700000 Kg L|Ch.
_ EBZ32 5A(M) YLk,
" Eosio A ¥ YU,
=4
¥ Process finished with exit code ©
[]
»
P Version Control P Run = TODO © problems Terminal

Build completed successfully in 2 sec, 516 ms (moments ago)

String genderl = "M";
double weight = 45.70;
String blood = "AB";

v A\

Current File ¥

System.out.printf("%s2 %d 0|1, %f Kg YLICk.\n", name, age, weight);
System.out.printf("%s2 %sAt(%s)&LICt.\n", name, gender, genderl);

System.out.printf("gdHAE %s & YLICt.\n", blood);

© services A\ Build
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:\Users\Dmitrii\.jdks\openjdk-18.0.2.1\bin\java.exe "-javaagent:C:\Program Files\JetBrains\IntelliJ IDEA Community Edition 2022.2.1\lib\id:
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[®] Project w D T = & — @ TwoWeekjava

Vv IR untitled2 C:\Users\Dmitrii\ldeaProjects\untitled2 >
> I .idea
> W out
v M src
@& TwoWeek
G TwoWeek?2
i untitled2.iml
> Ml External Libraries
P Scratches and Consoles

VCS Window Help

untitled2 - TwoWeek?2 java

& TwoWeek2java *

v AN CurentFlev | p #H G

public static void main(String[] args) {

13
F
}

Run: =1l TwoWeek2 >
» 4 C:\Users\Dmitrii\.jdks\openjdk-18.0.2.1\bin\java.
F *xkx AIZE A 6= T2 20 wedkexx

® 7t : 200 Cm

e NZ : 30 Cm

= BE : 6000 Cm2

(]

Process finished with exit code ©
»
P version Control » Run =TO0DO O Problems Terminal

Build completed successfully in 2 sec, 569 ms (a minute ago)

© services

int a
int b
int c:

cC =ax

System.
System.
System.
System.

exe "-javaagent:C:\Program Files\JetBrains\IntelliJ IDEA

“\ Build

200;
30;

b;

out
out
out
out

.printin("sxxx ARZIE HE 3= T2 skkk\n");
.printf("7I2 :
.printf("NZ :
: %d Cm2\n", c);

.printf ("%

%d Cm\n", a);
%d cm\n", b);
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